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L. 'mmwn: any of the 15 N1y whose pw1Tp to the dead brother were in doubt — ma» 85 n¥Yn

90 v11p — if he threw PWITP qO3 to her but it was unclear to whom it was closer (Y 211p pav ,nY 217p pav)
P90 VN

If he wrote the v, but there are no o1y

There are 01y on the v), but no 1

There is 101, but only 1 1y

Omission: if he threw her a v, and it was unclear to whom it was closer (9 211p pav ,n% 217p pav)

a.

b.
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challenge: why this omission? Why shouldn’t she also require n¥/>n?

answer (77127): originally this woman (the n1 n7x) was nMwa and available to the pw — on

account of pav, we won’t forbid her

challenge (»a8): why not say the same about pav >wi1p? This woman was originally nppr and

available for ma»...

defense: in that case, forbidding her is a X1mn

challenge: this XN will lead to a catastrophic ®91p:

(a) possibility #1: this same fellow will give 'RT1 'v11p to her sister OR

(b) possibility #2: another person will give this same girl "R 01T

(c) consequence (of either scenario): since we forbid ma» here, people will think that the original
PVIPP were )R the 27 pv11p were meaning]less:
(i) either: he was w1pn his wife’s sister (nothing)
(if) or: he was w1pn an WX nwR (also nothing)

(d) and then: she will leave without a v or marry that 2" fellow’s maternal brother (thinking
there’s no relation)

defense: since we force n¥'9n, everyone knows that it’s just a Xammn and the pwyp were pav

challenge: say the same about w1 — force n¥»on etc.

defense: if we do that, we may end up allowing ma» (thinking “if she has n¥’5n, she may do ma»”)

challenge: apply the same concern to pPWITp pav

(a) explanation: let’s say B1 married W and then had pavo »wimp with S1; we are ruling that if Bl dies,
W needs n¥on from B2; aren’t we concerned that B2 may then perform oa» on W?

defense: so what? Let her do ma» — after all, W was always “set” for m1a»; the doubtful pwvirp of S1

shouldn’t derail that.

challenge:

(a) ruling regarding a cave-in, where a man and his wife (his niece) died and we don’t know who
died first:

(b) possibility #1: he died first, the n1x goes free as My mx

(c) possibility #2: she died first, the n1x% is nppr since the My predeceased the brother

(d) ruling: n®5n

(e) Challenge: why don’t we say that the n7x had a status of % nimn, don’t derail that paon

(f) Possible defense: Ramm

(g) Challenge: why aren’t we concerned that it’s a X91p 1'% 'NRT RIMN (NYHN S D1a”»)

(h) Defense #1: pwy12 are common, room for a N

(i) Defense #2: in case of w117, people will suppose that the rabbis investigated and found the i to
be valid and that’s why the 07 needs n¥9n (then n¥’n - ma»); regarding the cave-in, everyone
knows that noone has access to the sequence of deaths
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v.  Observation: the omission is contradicted by the nwn in pv» that notes the results of pwr,
n9/1% 2P pav as affecting the MIx (NRa”NN R Ne5IN)
1. defense: the context there is 2 sets of 01y, each testifying to different proximities >xXn»1R7 pav
2. challenges: perhaps our case is also 2 sets of oy, in addition — 2 sets of o1y is a double-
knockout and leaves status quo (as in ®'0W 727 '02))
vi. rather: »ar (using v. 1 —i.e. context is instructive) says that 1% 2179p pav etc. applies to pw1a just as PVITR
1.  ~a7 slight variation — some of the items mentioned in pw11) don’t apply to pwr1mp, but all of
PVIPR (N91% 1P pav) applies to pwIM
(a) ™" excludes the issue of 1t — which doesn’t exists vis-a-vis pwrmp
(i) tangential question: why is there no jnr mpn in pwITP?
(ii) Answer: most of pWYT'p are done qoia
(iii) Additionally: where would we leave the pwiTp 20W?
1. possibility #1: with her — but if she is n%v2 nnnn N, she’ll hide the oW or erase it
2. possibility #2: with him — but if she is family, he’ll do the same
3. possibility #3: with 0"y — but if they don’t remember the jnr and use the 7vw to
testify, they violate the sense of v. 2
(iv) challenge: use the same reasoning to reject 0’1 jnt
(v) answer: in pv», they’re coming to “save” her (by proving that she was already
divorced when she was n); in pw1Tp, they're coming to incriminate her
IL 10 mwn: pna v npr
a. Setup: 3 brothers (B1, B2, B3) married to 3 unrelated women (W1, W2, W3)
b. Case: Bl died, B2 performed 1nxn on W1 and died:
c.  Ruling:
i.  p’m n¥Yn to both, on account of v. 3 — only someone with the np’t from 1 brother has ma»
1. challenge: if the source is v. 3, then Pn2’ ‘2 np>t is n”nn and she shouldn’t need nx5n
2. answer: it’s 1312970, as a precaution against giving 112” to 2 women from one household
3. challenge: if so, give ma» to 1 and nx¥'9n to the other
4. answer: people will think that if 2 women come from 1 household, 1 needs 12 and the other — nxo>n
(a) challenge: let them think it (and do it!)
(b) answer: if the n¥on is first, he is already in the state of M2’ 8Y 7WR, at which point D127 is a W
(©)
ii. ®”% he may perform ma» on either one and must do n¥*n on the other
1. reason: 3"nn — if MRnN is a p1p, she is coming from house of B2; if not, only coming from house of B1
iii. ~27if B2 gave a vy to W1 after 1nxn and then died:
1. wversion #1: the 7% may perform o1, since the mini-np’r was removed
(a) however: W1 is forbidden, as a precaution against a simple van nbya (without 1xn)
2. wversion #2: even W1 may perform ma»
(a) reason: what he gave, he removed and we’re back to earlier status
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